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For 3.3f/3.4f, compute the exact overall time-average ‘power’ in x(¢) as well as the ‘power’
contained in the dc as well as each of the first three harmonics of the Fourier series xa(?).
Then, find the total power in the DC + first 3 harmonics. Express answers both as a number
and as a percentage of the total ‘power’. Tabulate results (see below).
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From This expreSsion
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Term(s) ‘power’ | % of total ‘power’
Exact 0.555555 100
DC 0.444444 80
First harmonic 0.103943 18.71
Second harmonic 0.006496 1.169
Third harmonic 0 0
DC + first 3 harmonics | 0.554884 99.879




